2004-2005 DS Golf Cars lllustrated Parts List

Page 4-4



BRAKE PEDAL AND CABLE ASSEMBLY

ITEM | PARTNO. | DESCRIPTION IR

12 3 4
1 101990801 BEQUANIZET ...t 1 1
2 1241 Washer, FIat, 5/16 ......oooiiiiiieie e 5 5
3 1013531 Spring, Brake RetUMN ... 1 1
4 1010921 Screw, Hex-Head Cap, 5/16-18 X 2-1/2 ... 4 4
5 7473 Nut, Nylon Lock, 5/16-18 ......ooiiiiiiieeeie e 5 5
6 102022101 Kit, Brake Cable (includes item 7, and items 13 and 14 on page 4-3) ....... 2 2
7 1011779 E-CliP, /2 oottt e e aeeenes 2 2
8 101878201 Kit, Brake Pedal (includes items 9 and 10) .......ccccceeeiiiiiiiiiiiiieee e, 1 1
9 7716 Screw, Slotted Hex Washer-Head, #10-16 X 1/2 .....cccoooiiiiiiiiiiieeeee. 3 3
10 1013869 Pad, Brake Pedal ..o 1 1
" 1010878 Bumper, RUDDET ... 1 1
12 1028 NUL, HEX, 1/4-20 ..o 1 1
13 101953101 ROd, EQUANIZEE ..ot 1 1
14 102323201 Pin, Clevis, 5/16 (later style hardware) ..........cccccceeeeiiiiiiiiiiiieieee e, 1 1
15 102323101 Pin, Bow Tie Locking (later style hardware) ............ccccccvvvieeiieeeee i, 1 1
16 101953001 Bolt, Hex-Head Shoulder, 3/8 x 1 (earlier style hardware) ......................... 1 1
17 7473 Nut, Nylon Lock, 5/16-18 (earlier style hardware) ...........cccccceveeeiieiiinnnnee. 1 1

101187702 Kit, Park Brake Latch (includes items 18 - 22 and

ItE€M 26 ON PAGE 4-7) oot aa e 1 1
18 N/A Rod and Pawl ... 1 1
19 1017029 Pin, Cotter, 7/64 X 1/2 ..o 1 1
20 1010877 NUL, PUSH, 5/16 ..ot e 1 1
21 1010805 Sleeve, Park Brake RO ........ccooooiiiieeiieeeee e 1 1
22 1010932 Joint, Ball, 1/4-28 ... 1 1
23 1010933 Spring, Park Brake TOISION .........cceeiiieeiiiiiiicciiiiieeee et 1 1
24 1010927 Spacer, Park Brake ... 1 1
25 1011402 Package, Brake Mounting Block (contains upper and lower

for driver and passenger SIdeS) .........cocuuiiiiiiiiiiie i 1 1
26 1011418 Kit, Park Brake Pedal (includes items 27 - 30) ........cccccvviieiieeeee i 1 1
27 1032 BUShING, NYION ...cooiiiiii e 2 2
28 8626 Screw, Slotted Hex Washer-Head, #10-16 X 5/8 .........cccccveviiiieiiiiiinnn. 2 2
29 1013876 NUL, PUSH, 3/8 ..o e 1 1
30 1013870 Pad, Park Brake ........c..ccooiiiiiiieiiiiiie ettt e e enaee e e 1 1
31 1242 NUL, HEX, 5/18-18 .o e e e 1 1

2004-2005 DS Golf Cars lllustrated Parts List

Page 4-5




